CPS171     Recursion Worksheet

1. Given the recursive formula F(N) = -F(N-2) with base case F(0) = 1, what are the values of F(4), F(6) and F(5)?  (If any of the values are undefined, say so.)

2.  Add whatever is necessary to fix the following function so that Func(3) equals 10.

int  Func ( int n)

{


return Func (n – 1) + 3;

}

3. Given the following input data (where \n denotes the newline character):

ABCDE\n

what is the output of the following program?

#include <iostream>

using namespace std;

void Rev();

int main()

{
Rev();


cout << endl;

}

void Rev()

{
char ch;


cin.get(ch);


if (ch != ‘\n’ )


{ 


      Rev();


      cout << ch;


}

}

